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 1. Derive the expression for the voltage and current at any point along a uniform 

transmission line. 

 

 

   [10] 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2m 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2m 

 

 

 

 

 

 

 

 

CO1 L2 



 

 

 

 

 

 

 

 

 

 

 

1m 

 

 

 

 

 

 

 

 

 

 

 

 

1m 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2m 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2m 

 2.  A line of Ro= 400 Ω is connected to a load of 200+j300Ω, which is excited by a 

matched generator at 800MHz. Using smith chart, find the location and length of 

a single stub nearest to the load to produce an impedance match. 
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 3. (a) What are standing waves?  Draw the standing wave pattern for:  

(i) Open circuit termination     (ii)     Short Circuit termination  

(ii) Matched termination 
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   (b) A twin wire transmission line in air has adjacent voltage maximas at 12.5 cm and 

27.5 cm. The operating frequency of the line is: 

(a) 300MHz   (b) 1 GHz     (c) 2GHz    (d) 6.28GHz 
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4. A lossless transmission line with Zo=60Ω is 400 metres long. It is terminated 

with a load Zl=40+j80Ω and operated at a frequency of 1 MHz. The velocity of 

the wave on the line is 0.8 times the velocity of light. Using Smith chart, find (i) 

the reflection coefficient (ii) the standing wave ratio (iii) input impedance. 
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 5.  Define reflection and transmission coefficients. Derive an expression for 

reflection coefficient and transmission coefficient in the transmission line. Also, 

derive the relationship between them. 
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 6.  Explain symmetrical Z and Y matrices for reciprocal network. 
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 7.  Explain S-matrix representation of multiport network. 
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8. Define and derive the following losses in microwave network in terms of S 

parameters:  

(i) Insertion loss (ii) Transmission loss (iii) Return loss (iv) Reflection 

loss 
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